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Where n = number of turns of the current loop
i = current; Since the orbiting electron behaves as
current loop of current i;
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60°; At the polarising angle reflected and refracted beams are mutually perpendicular

Slope = h/e. Here, h and e are constants. Therefore,
the slope is same for all metals and independent of

the intensity of incident radiation.

We have
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and {Et]l=2hf—hf‘n
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23. 2 No. of spectral lines = > T o - 6
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Number of nuclei in atom X =A-52=125-52=73
26. 2
27. 2 p-type is obtained by doping with trivalent impurity atoms
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29. 3 The intermediate image in a compound microscope is real, inverted and magnified.
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38. 1 In KMnO, Mn s in +7 oxidation state
39. 4
40. 3
41. 3 Only chlorobenzene and bromobenzene are prepared by Sand Meyer’s reaction
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44. 1
45. 3 Carbonyl compounds containing o -hydrogen atom give aldol condensation
46. 4 Lactose and maltose are disaccharides
47. 4
48. 3 D and L have no relation with the optical rotation. Carbohydrate having D-configuration may be
either dextrorotatory or laevorotatory e.g., D-(+)-glucose is dextrorotatory while D-(-)—fructose is
laevorotatory.
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Aromatic amines like aniline are less basic
than aliphatic amines because of the involvement
of lone pair of electrons in resonance with the
aromatic ring which now becomes less available for
donation. In substituted aromatic amines, electron
withdrawing groups decrease the basic character
and electron releasing groups increase the basic
character.
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Lone pair is not
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Amines have an unshared pair of electrons on nitrogen atom due to which they behave as Lewis
bases
57. 4 Aniline itself does not undergo Friedel-Crafts reaction because amino group of aniline acts as a base

and forms salt with Lewis acid, AICL, etc, C¢H 5%H2.A1C1§

58. 4 We know that, K, = AT5 KW XMW,

0.201X50x128 10001
For CCly; K, = ——220X128 _ ;19
1000 0.2563

1000x K, X W, _ 1000x5.019x0.6216
AT, xW, 0.647 X 50

MW2=

=96.44¢g

The solution containing n-heptane and ethanol
shows non-ideal behaviour with positive deviation from
Raoult’s law. This is because the ethanol molecules are
held together by strong H-bonds, however the forces
between n-heptane and ethanol are not very strong, as
a result they easily vapourise showing higher vapour
pressure than expected.
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